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 2

1. 1, 2 3 

2. ax2 + bx + c a, b c 

a  0 

3. x y = p(x), x – 

x  = a p(x) p(a) = 0 

4.

5. ax2 + bx + c a  0)

  b
a

 .
c
a

6. p(x) g(x) q(x)

r(x) 

p(x) = g(x).q(x) + r(x), g(x)  0

r(x) = 0 r(x) < g(x) 
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10 X – Maths

1. f(x) x

(a) f(x) > 0 (b) f(x) = 0

(c) f(x) < 0 (d)

2. f(x) y = f(x) .......... 

(a) x- (b) y-

(c) (d) (x, y)

3. f(x)  f(x)

(a) (x – ) (b) x – 2
(c) (x + ) (d) (2x – )

4. f(x) (y – a) f(x)

(a) y (b) a

(c) 2a (d) 2y

5.

(a) (b)

(c) (d)

6. x = f(y), y-

(a) (b)

(c) (d)
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X – Maths 11

7. x2 + 1 

(a) (b)

(c)

(d)

8.  f(x) = x2 + x + 1 
1 1

................  
  

1 1
................

(a) 1 (b) –1

(c) 0 (d)

9. g(x) = (x2 + 4)x2 + 13x + 4k 

k = 

(a) 2 (b) –2

(c) 1 (d) –1

10. 3x2 + ax – 14 2x – b 2 a – 2b

(a) –2 (b) 7

(c) –8 (d) –7

11. ax2 + bx + c 

(a) a = c (b) a = b

(c) b = c (d) a = – c

12. f(x) = (x – 5) (x2 – x – 6) 

(a) –2, +3, 5 (b) –2, –3, –5

(c) 2, –3, –5 (d) 2, 3, 5
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12 X – Maths

13. y = ax2 + bx + c x-

(a) b2 –4ac > 0 (b) b2 – 4ac < 0

(c) b2 –4ac = 0 (d)

14.   2x2 + 7x – 3 

15.  p(x) = x2 – a (x + 1) – f (x + 1) ( + 1) = 0

f

16.  x2 – (k + 6) x + 2 (2k – 1) k 

    1
.

2

17. (x + a), 2x2 + 2ax + 5x + 10 a 

18.  5 3 2   5 3 2

19.
1
5 – 2 

20. 23 8 4 3x x 
21. (x + k), x2 – 2x – 15 x3 + a k a 

22.  2 5
4

23. kx2 + 3k + 2x k 
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X – Maths 13

24. 4x2 – 9 – 8kx k 

25. 6x2 – 3 – 7x 

26. (a2 + a) x2 + 13x + 6a 

a 

27. (2x2 + px) – 15 (–5) p(x2 + x) + k 

k 

28. k 3x2 + 2kx + x  – 5 

29. f(x) = 2x4 – 5x3 + x2 + 3x – 2 g(x) q(x) = 2x2 – 5x

+ 3 r(x) = – 2x + 1 g(x) 

30. (x–2), x3 – 3x2 – 4x + 12

31. ,  x2 – 5x + k  –  = 1 k 

32.   2x2 + 5x + k k

( + )2 –  = 24.

33. x4 – x3 –7x2 + x + 6 3 

1 

34. 4x4 – 20x3 + 23x2 + 5x – 6 2 3 
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14 X – Maths

35.  2 3  2 – 3 x4 – 4x3 – 8x2 + 36x – 9

36. 8x4 + 14x3 – 4x2 + 7x – 8 4x2 + 3x – 2x

37. 4x4 + 2x3 – 2x2 + x – 1 p(x) (x2 + 2x – 3) 

 p(x) 

38. a b x4 + x3 + 8x2 + ax + b (x2 + 1) 

39. 6x4 + 8x3 + 17x2 + 21x + 7  3x2 + 1 + 4x 

r(x) = ax + b a b 

40. 2x4 – 2x3 – 7x2 + 3x + 6  
    

3
2

x  

41. x4 – 3x3 – x2 + 9x – 6  – 3 3   

 42.   (x3 – 3x + 1)   x5 – 4x3 + x2 + 3x + 1 

 43. ax2 + bx + c 

(i) a > 0 (ii) a < 0 ? a = 0 

1. b 2. a

3. a 4. b

5. a 6. c

Downloaded from www.studiestoday.com

Downloaded from www.studiestoday.com

w
w
w
.s
tu

di
es

to
da

y.
co

m



X – Maths 15

7. b 8. b

9. a 10. d

11. a 12. a

13. a 14.   
1 1 7

3

15. 1 16. k = 7

17. p = 2 18. x2 – 10x + 7

19.  2 1
2

5
x x 20.

2
2 3, 3

3

21. k = – 5, 3 and a = 125, 27 22. x2 – 4x – 1

23.
3

2


24. 0

25.  1 3
,

3 2 26. 5

27.
7

7,
4

 p k 28. k = 1

29. g(x) = x2 – 1 30. –2, 3

31. k = 6 32. k = 2

33. –2, –1 34.  1 1
,

2 2

35. ± 3 36. 14x – 10

37. 61x – 65

38.      0 1 7 0 1 and 7        r x a x f a f

39. r (x) = x + 2 = ax + b  a = 1 and b = 2

40.
3

2, 1,
2

 

41.  3, 1, 2 42. (x – 1), (x + 1)

43. (i) (ii) 
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